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GENERAL INSTRUCTIONS:

1. This question PAPEr conlaing two sections: Section A — Macro Ecortomics  Section B = Indian
Economirc Development

2. This paper coniains 20 Multiple Choice Questions of 1 mark each,

3. This paper containg 4 Short Answer (Questions of 3 marks each to be answered in 60 ta 80
words.

4. This paper contains 6 Short Answer Questions of 4 marks each to be answered in 80 1o 100
wards

3. This paper contains 4 Long Anvwer

Questions of 6 marks each to be anvwered in 100 to I50
words,

SECTTON A - MACRO ECONOMICS

ll[[ QNe | MARKS |

Read the following statements carcfully:

Statement 1: Average propensity to consume is never negative,
Statement 2: APC shows consumption per unit of income,

In light of the given statements, choose the eorrect alternative from
the following:

a) Statement 1 is trae and Statement 2 is false,

b} Statement 1 is false and Staternent 2 is true.

c) Both Staternents 1 and 2 are true.

d) Both Statements 1 and 2 are false,

For a closed economy, which one of the following is correct? 1
a) GNP < GDP b) GNP > GDP
£YGNP = GDP d) GNF + GDP=0

tant slope of the S-line indicates that ...,
) S-line will be a straight line
b) S-line will be a linear line

.......... 1
Both (a) and (b)
(d) Neither (a) nor (c)
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Gifis and remittances sent abroad are recorded on the .......oee.. side
of the .......cenren. acCOUNt in the Balance of Payments.

(Choose the correct alternative to Jill up the blanks)

va) debit, current b} credit, current
¢} credit, capital d) debit, capital

Kead the following newspaper report carefally:

" The Central Bank }as impased a fine on Hisar Urban Cooperative

Bank Lid. and Andamean and Nicobar State Cooperative Rank Ltd.
Jor violation of banking norms.”

According to the given report, identify the function of the central banlk.

a) Issue of ClITency:y. <) Banker to the government:
b) Banker to the publigs Ay Banker’s Ban}

Match Column T w;

th Column-11 and select the COMECt answer using
codes given below:

Colemn.1 Colurn-[1
A - | Non-legal tender money | (i) | Fiat money
B M1 (i) | Withdrawable by cheque
C | Legal tonder money {xii) Yiduciary moncy
D | Demand Deposits (iv) | Narow concept

Altern 5
A} A, Bi{tv),  C:(i), D:(i)
(b) A:(i), Bifii),  Cuiid), D:(iv)
(c) Ac(if), B, Caiv),  Defiid)
(d) Asiv),  B(iid), Cifii), Dufi)

With increase in income, induced expenditure will .....,......

a) & b) decrease
d')’m proportionally

d) remain unaffected

Let us assume the foreign exchange rate of the Indi is
speculated to rise in the coming months, This may lead to

many
investars holding on to their reservies of US Dollars, Which of (he
following things Will not happen in this situation?
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F: Rise in demand of US Dollars
(: Rise in supply of US Dollars
R: An actual depreciation of Rupes
S: Fall in demand for Rupee

—

Alternatives:
(a) Only P (c)Only P,Qand R
(b) Only Q (d) Only PR and §
Suppose for a given cconomy,
C=80+08Y I=Z 6,000 crore

(Where S = Saving Function, Y = Mational Income and T = Investment
Expenditure)
Equilibrium level of Income would be 2 crore,

(Choose the correct alternative to fill up the blank)

Alternatives: 2)3,000  b)3,040 . 230,400 d) 30,600

Read the following chart carefully and choose the correct altemative:

Alternatives:

4) L received on Joanse-

¥ Income receipt / payment transactions from ROW

c) Portfolio Investment ¢

d) Income receipt / payment transactions from Government

“ Trade deficit mw if a country is facing a situation of eurrent
account deficit. " "
Elucidate the given statement , giving reasons.




\}f Explain how ‘Non-Monetary Exchanges® impact the use of Gross

3
Domestic Product as an index of economic welfare,

Or,

Suppose in a hypothetical economy there are only two Firms A and B,
Firm A scld goods for ¥ 2,000 1o Firm B and purchased goods for 2

1,000, Firm B exported goods for 2 2,500 and had domestic sales of #
1,500. Calenlate Net Domestic Product at market price, if consumption
of fixed capital is 200,  E=2 o
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L@ " An cconomy Jfacing unintended accumulation of inventories would 2+2
ry to reduee aggregate ::!'E_-mmri s "?1 Aignaitasd
Defend or refute the given elatement with valid reasons.
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Elaborate the *Banker

‘s Bank and Supervisor® function performed
the Reserve Bank of India, o
Or,

,Efahunte the ‘Government's Bagk and Agent’ function performed
*| the Reserve Bank of India. o

‘,[c(i-ﬂn the basiz of the given information, caleulate the valye of;
(i} Revenne Deficit

343
(ii) Fiscal deficit  (iti) Primary deficit

s.n0 | Particulars
() | Interest Payment

Amount (Rs.in crores)

1013
(ii) | Revenue Expenditurety/” 3821




(i11) | Non-tax revenue i o 2000
(iv) | Recovery of loans o 135
(v) | Capital expenditure %, .,/ 1574
(vi) | Disinvestment o 100
(vii) | Tax Revenue 4% J 1000

public goods?

Define Public goods. Why should the povernment provide the

Domestic Income: o } ’-.___,

On the basis of the given data, estimate the value of

T Sno | Items Amount
(Rs.in crores) s
\ 1| Household Consumption Expenditure 1600 ,ff
2| Gross Fixed Capital Formation 400 y
37 .Chan,gl:instu::}t 1
4| Government Final Consumption 1200
Expenditure /
5| Net Exports (-}400
6 | Net Indirect Taxes 140 A
7 | Net Factor Income from abroad 20 /
8" | Consumption of Fixed Capital 80 ™ .
: o
.
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(A) Caleulate Compensation of employees : 1. JU L,

Amount

Particulars
(ILs.in crores)

SN0

i Prolits aller ex 20

1] Interest 45
i1 Gross Domestic Produet at MP 200

v Goods and Service Tax 10

v Consumption of fixed capital 50

vi | Rent 15

vii | Corporate Tax 5

\(}6} Use the following information of an imaginary country:

Year 2017-18 2018-19 2019-20

Nominal GDP 6.5 B4 o

GDP Deflator 100 140 125

i For which year is the Real GDP and Nominal GDP same and why?

@ummmyearmwmmemuﬁm falls?
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SECTION B - INDIAN ECONOMIC DEVELOFPMENT

Identily the incorrect statement from the following:

a) Diversification in the agriculture sector provides sustainable
livelihood to the reral population,
b). Diversification includes - change in cropping pattems, shift of
workforce from agriculture to other allied activities...”
_8Y Objective of investment in new avenues (non-farm activities)
increases financial risks for the rural population.
d) Diversification reduces the proportion of unemployed

population in the rural areas.
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From the set of events/systems given in column [ and corresponding

relevant fact given in column II, about China, choose the correct pair
of statement;

Coluwmn I Column II
A | Great Leop Forward i Cultivating land Eﬂ]]ﬂﬂﬁ.‘l."l:i]l'
B | Commune System ii | Opening of the Industries in
their homes
C Pmlr:tml'j.an Cultural il | Students were sent fo work
revolution and leam from the
countryside
D | Bzonomic Reforms in v | 1988
China

Alernatives: 8)A-i By B-ii ¢C-ii  D-iv

The annual growth rate of the industrial secter during 1950-1990 was:
a) 4%  BI5% S % &) 10%

The Karve committee (1955) was constituted for aiming ......... ;

a) Modernisation b) Industrial development
Development of small scale industries d) Self-reliance

Read the following statements - Assertion (A) and Reason (R). Choose
one of the correct altermatives given below:

Assertion (A): The industrial sector became well diversified by 1990.
Reason (R):  Protection from foreign competition enabled the
developmerit of indipenous industries.

Alternatives:

a. Both Assertion (A) and Reason (R) are true and Reason (R) 1s the
correct explanation of Assertion (A)

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not
the correct explanation of Assertion (A)

c. Assertion (A) is true but Reason (R) is falze.

d. Assertion (A) is false but Reason (R) is true.




.............. was introduced in China in 1965, under which st_udmis and
professionals were sent to work and leam from the countryside.,
(Choose the corvect alternative fo fill up the blank)

a} Commune System ¢) Dual Pricing _
b) Great Leap Forward _d) Great Proletarian Cultural Revolution

,MJ' was the harbinger of major changes in the credit
system as it led to the diversification of the portfolio of rural credit
towards production ariented lending,

4) Golden Revolution ) White Revolulion * + . i
b) Green Revolution  d) Operation floed
257 | and arc the reasons for the slowdown of the
. Pakistan economy since independence.

I. political instability-

IL. over-dependence on remittances from abroad -
I11. stable performance of apriculture sector.

I'V. prowth of service sector

Alternatives: ) Tand T b)Mand ML o) Mand IV d) Tand IV

Read the following statements carefully:

Statement 1:The worker-population ratio in rural India is higher than
that in the urban areas.

Statement 2: Worker-Population ratio is an indicator used for
analyzing the employment situation in a country. .

In light of the given statements, choase the correct alternative from
the following: ‘

a) Ststement 1 is true and Statement 2 is false. ™

b) Statement 1 is false and Statement 2 is troe.

c) Both Statements 1 and 2 are frue.

d) Both Statements 1 and 2 are falsco-

From the set of the events given in column I and corresponding facts
given in Column II, choose the correct pair of statements:




Colunm-1 Column-11

A | Introduction of ceonomic reforms in Chinn | 1940 [
B | Establishment of people’s Republic of i 1953
China
First Five Year Plan of China il | 1978 v

Great Leap Forward Campaign iv

Alternatives:  a)A-i WB-ii ¢)C-iil Jl')/l.} - v

28. Give a quantitative appraisal of India’s demographic profile during the
: colonial period.

Or,

Highlight the salicnt features of India’s pre independence occupational
| structure,

“Mohit was initially working as an office clerk in a firm. In the pursuit
to aftain porition and income, he attended a few seminars and it
contributed positively to the development of hix skills and expertize. ™
ar M ! I;,:::_.I J;,_;._{-,-..I PPl ]
Explain the impact of Mohit’s decision on h capital formation.

Compare and contrast the development of India, Ehmaand Pakistan
with respect to some salient human development indicators.

Or,

Compare and analyze the given data of India and China with
suitable arguments:

Sectoral Contribution to GVA("%) in 2018-19

Sector. | Comtribution fo G¥A

Agnoituze |16 i
" Industry 30 "JI._

Towl | 100 T




A
A |

TIdentify the situation dep
of the indicated situation, on the Indian COOHOmY,

icted in the piven image Supgest the impact

d‘w'.r'na’a’;?;: 4

‘Developmental Slanning envisaged
mare and mere workers would &4
the proportion of workers engaged in the fﬁfﬁ?‘n?ﬁ_r_i_s_eﬂ_uTWHfﬂ‘

Using the data given below
of employment in Tndia,
Workers in Faormal! Informal Secror, 2009-2072

that as the economy grows,
become formal sector workers and

T R

for workers in India, analyze the nature

Secror No. af warkers (in millions) FPercentage
: of workforce
Male | Female Tertal
Formal 24 & 30 6.3
Informal 310 133 443 93.7
Total 334 139 473 100
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?Ttﬂ' gwving valid reasons whether the following statements are true or
L5,

(8) There is a onc-way causality between human capital formation
and cconomic growth, . .«

|I i) II ._.I.- L
(b} The most important charu:l:rumm of India’s forcign trade
throughout the colonial period was the generation of a large export
surplus which came st a huge cost to the country’s economy.

Or,

_&{{Indla’s environmental problems pose a dichotomy — they are
poverty induced and, at the same time, due to affluence in living
standards—iz this trua?

‘_[.iijf“'['hc preen revolution would have favoured the rich farmers
only if the povernment did not play an extensive role in ensurmg that
the emall farmer also gains from new technology. 'Do you agree with
the above statement ? Give valid reasons in support of your eanswer.
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desertification, rising commeodity prices and cost-of-living pressures,
poverty, inequality, and conflicts. The leaders “affirm that no country

should have to choose between fighting poverty and fighting for our

planet.”

On the basis of the given text and common understanding, answer the
following questions: /

Define sustainable development.

J,’J-.( Bricfly elsborate, any two redsons, behind the 2030 Agenda for

Sustainable Development and its SDGs, by the Indian Government.
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